
Les documents de Papipa 
 

 

 
 

 

 

 

 

 

 

 

 

 

   

Utilisation des parenthèses – 3 (étude) 
 

 
 
 

3 x (4 + 2) = …………………… 
 
 
 
 
 
 
 
 
 

10 x (5 – 3) = …………………… 
 
 
 
 
 
 
 
 
 

6 + (5 x 2) = …………………… 

 
 
 
 

 

 
 
 
 
 
 

 
 
 

21 – (5 x 4) = …………………… 
 
 
 
 
 
 
 
 
 

(97 – 95) + (86 – 85) = …………………… 
 
 
 
 
 
 
 
 
 

(24 + 12) x (83 – 73) = …………………… 
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Utilisation des parenthèses – 3 (exercices) 
 

Série n°1 

a)   6 x (4 + 2) = ……………………… 

b)   5 x (8 – 2) = ……………………… 

c)   8 + (4 x 5) = ……………………… 

d)   26 – (4 x 4) = ……………………… 

e)  (11 – 3) + (13 – 10) = ……………………… 

f)   (6 – 2) x (5 + 4) = ……………………… 

Série n°3 

a)   9 x (8 + 3) = ……………………… 

b)   8 x (103 – 97) = ……………………… 

c)   19 + (7 x 8) = ……………………… 

d)   63 – (6 x 9) = ……………………… 

e)   (72 – 59) + (89 – 2) = ……………………… 

f)   (82 – 73) x (103 – 94) = ……………………… 

Série n°2 

a)   10 x (9 + 2) = ……………………… 

b)   8 x (11 – 2) = ……………………… 

c)   12 + (6 x 8) = ……………………… 

d)   50 – (7 x 6) = ……………………… 

e)  (41 – 28) + (19 – 9) = ……………………… 

f)  (11 – 5) x (20 – 11) = ……………………… 
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